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\ﬁ Choose the correct answer and then mark it on your answer sheet.

The company conducted a survey of its new product among the consumers.

a. sellers b. producers C. users d. distributors

[Land, labor, capital, and entrepreneurship are generally called factors of ...t

a. decision b. function ¢. optimization d. production

The social study that deals with the organization of productive resources for the satisfaction

of human wants iscalled ... .

| |
a. Inflation b. cconomy h
¢. Stagnation d. Conglomeration
The oo of natural resources are uneven throughout the world.
a. determination b. distribution
c. interventon d. competition
The principle of cqual-sacrifice states that taxes should be .............e in such a manncr

that the sacrifice or burden imposed on cach tax payer be equal to that imposed on every
other tax payer.

a. allocated b. shifted ¢. imposed d. inflated

The students of cconomics have .............. from the experience and theories advanced by
famous cconomists in the course of history.

a. worked b. depressed ¢. benefited d. considered

A fixed payment at regular intervals for services is called ..o .

a. money b. salary ¢. compensation d. minimum wage

An association formed by workers 10 coordinate their needs is called ..o

a. merger b. conglomeration

c. cooperation d. union

As a successful businessman he spoke so .o about the products of his company.
a. professionally b. theoretically

¢. rapidly b. experimentally
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\ 10, The size of working capital is an indicator of the liquidity and ............... of a company

i particularly when related to other financial indicators.

a. circulanty b. hability
¢. bankruptey d. necessity
11 1f the stolen car is vvoevvveon....., the owner is entitled to reccive compensation from the

msurance company.

a. msurred b. appointed
¢ expected d. prevented
12, I he paysallhis oo . he will have no money left for his.
a. budgets b. debts
C. prices d. taxes
13, Proper oo means making sure that cach purchase is worth its opportunity cost.
a. monctary b. budgeting
¢. purchasing d. distributing
14, Wemust oo the cconomy without producing unemployment.
a. demand b. replace ¢. sustain d. deflate

15, Once higher levels of demand are relatively certain, new workers are ...

a. applied b. indentificd c. hired d. classified
16. The company had a well- ... profit after successfully fulfilling that major contract.
a. carned b. charged c. used d. recieved
17. An cconomy experiences periods of prosperity and ............. , or boom or bust.
a. fluctuation b. depression
¢. acceleration d. aggregation
18, Rather than rushing into the process of statistical ... , the analyst can gain

much by listing and studying the important factors influencing the structurc of cach industry.

a. obligation b. regression
¢. estimation d. allocation
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19, As a machinc 1s ............... for production, its value 1s transfered to the product that is
produced and sold.
a. held h. owned ¢. declined d. utihized
20. When the overall. or ageregate, demand for good is less than the supply in the market,
production declines and workers are ............. :
a. unexplained b. unemployed
¢. unobserved d. inexpericnced
21, 1f the marginal efficiency of capital .............. the pure rate of interest, evervone will wish
to borrow moncy and buy capital cquipment.
4. CXCCSSes b. means
¢. provides d. includes
22, They admit that they are not right, but they bet that theyarcnot .............. WIong.
a. commonly b. statistically
¢. acceptably d. totally
23, Livery month, he ... up all his bills before he pays them.
a. responses b. changes
¢. adds d. buys
24 After it has been ................. his income is very small and he cannot buy the necessary
requirements for his family.
a. associated b. contributed
¢. increased d. taxed
25. The effect of oo is to link up buyers and scllers from different times, Just as
wholesaling and retailing link up buyers and sellers in differcnt places.
a. speculating b. working
¢. spending d. protecting
26. Modern cconomy involves thousands of complex production and ............... acuivities.

4. combination b. occupation

¢. consumption d. inflation

« ATILLA ML.QT » @M‘é Qlﬂ»
iy = 5155 555 pley O gus dignd Sl (2 5 5 1.
ANFRFF—YPAL o 0 «FFI-YAFTFAYY: il



WMppdei  plelll s

T 25 00 gl
/ Ahaﬁl ‘()‘."J{'UJ.““;MJ
vanr s

w}z - U'.b‘c Y. U.Ld' iMpaws S sm5
Wl G s gkl
¥ olade Kol

27, They give 20 pereent oo for cash payment instead of pavment at a later date.
a. demand b. cost
¢. ratio d. discount
2%, Since the team members cooperated efficiently, the profit was ................ shared among
them.
a. proportionately b. cqually
¢. equitably d. fairly
29. Keynesian cconomics ..o............. during the great depression of the 1930, and showed the

way out of such depressions.

a. developed b. produced
¢. included d. divided
30, Aggregate o is defined as the total dollar amount of goods that consumers,
............... and governments plan to buy.
a. supply b. tax
¢. demand d. output
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